N
|..1 - Number Systems -

Learning Target: to examine and understand all the components of the real number system

Toolkit: Main Ideas:
e Placing numbers on number lines -
o Anything you remember about
classifying Real Numbers

Definitions:
Natural Numbers — { I, , 3’ “', % The 00un+in3 numbers
Whole Numbers — {O} l, Q)3) ...g zero ond +he coun'l’ina numbers

Integers — { "3,"1, “, o, | ) 3, 3/ ...g neﬁ, coun‘“n\t] &'s’ zero, pos, counf'l'nj '*'S

Rational Numbers — A|| numbers that can be weilen ag o fraction m ? M‘ﬂem (n#b)
¥ Decimalg ! P9P3“+’ﬁ9 ex, Jg-‘- 0.3 :

Irrational Numbers — Al numbeng J(jler +€r“‘i"°+i"3 ex "T-{ =035

E1 JT) J-a_) \FT,.;- Cﬂ_}}_c,:'!' be Wv‘i“?l\ as o "FI‘R()HOV\

) A T”errm'm#f/lcj c(éci'ma‘) or Peﬂ€ﬂ+“v clecimal
Real Numbers -

Al dHhe rational umbers and irrotional pumbers combiaed
3Ck I8 ot "real, thea o mumber i Com,af&ifﬂmg{fmu;) :

Classifying Real | Ex. 1) Where do these numbers belong in the diagram of Real Numbers?
Numbers

2 0.8 42 g '7“ A2 om0 Vié
135 =125 43 Vis 19 ud

Real Numbers:

‘Rational Numbers g - Irrational Numbers
l ' Ov
n:g:ers i (..{ J‘l
ole Numbers 3 ﬁ
Natural - ] :
Numbers O ~19 > -
2 Jib . 1,35 B3
J-1as
1 & |y




True or False

List of humbers

State the number
System

Ex 2) State whether each statement is true or false.

a) Every integer is a natural number Ea lsg: o
' =3 et notural

b) All whole numbers are integers l };Mf_

c) Every real number is a rational number __F_a LSC

'”f:l'_i_lj’nal 15 I‘e.a" but not f‘a“omﬂ
2
Ex 3) Consider the list of numbers: 0, —4, —1.3, 0.7 )

, o V17, 13, =25, 3.232232223...

= -5
Listall:
a) Natural Numbers b) Whole Numbers
3 0, 13
c) Integers d) Rational numbers
: _ -y _ - Z B

0,4, 13,3 0,1,-1.3,07, %13

¢) Irrational Numbers f)  Real numbers .
g~
\j‘ﬁ’ 2,232333323... Al 68 +hem @)

kx 4) State the number systems each of the following belong to:

a) Vi25 b) 7.59

= 5 ‘

notural ,W‘\o'e) in\‘efr, MHOAGI) I’ea' mh""""! real
c) V27

= §,196153433,,,

Irm’riOma’) Keal




1.2 - Greatest Common Factor and Least Common Multiple

Learning Target: to understand prime and composite numbers, and to find the greatest common
factor (GCF) and least common multiple (LCM) of numbers.

Toolkit: Main Ideas:
» Division
e Multiplication
°  Writing repeated multiplication using powers

Ex.2x2x2x2x2xw_x’3
W
;5 - 3'1

Definitions

Factor — A term which divides evenly into another term. Ex. The factors of 24 are | )Q? 3)‘4 ’ b ,,&, | QH
Factoring — The decomposition of a number into the product of other numbers, which then multiplied R
together give the original value. fx. 12 can be factored into. QA3 x 3 L

* This is 12 written as the product of prime, ﬁ:cmrc 9\5\2" g
Prime Number — A whole number that has exactly two distinct factors: | and itself. Ex. 2 2 5 7 1l |3),,,
Composite Number — A whole number greater than 1 that has more than two distinct factors. Fy Ly‘ ) b) 8 q 10...
** The whole numbers 0 and 1 are neither prime nor composite ** See pg. 61 for an explanation

Greatest Common Factor (GCF) — The largest number that divides each of the given numbers exactly.
Ex, The GCF of 24 and 36 is
Commen FACTORS -+ A el 362 J 2 ) 5 "f 4 ”30 _
Least Common Multiple (1.CM) — The smallest common non-zero multiple of Iwu ur more whole numbers, or
the smallest number that is divisible by all the numbers,
Ex. The LCM of 24 and 36 is 7&

muH’iplcs & 24: Q‘-’J"ﬂ ﬁa}QQ
mltigles &F 367 36(73, 109,

Product of Primes Ex 1) Completely factor each of the numbers
a) 28 '2‘3“ b) 96 )y
4'%9) ?5\
e
LB = AxAx7]
58 = X%

¢) 325 d) 4560
P
a5 @ /‘; e s
~{b @6 @*{f‘* 4560 = Jx XX Ax3x5 1
(14

A~ | Usso= QixTx5 x|
J9~5 5%5}(]31 r;l)‘?7 ESEICLAN




Finding the GCF

Finding the LCM

Woard Problem

(\\\Ae #1213
In g*g"/

'..___--

Finding the Greatest Common Factor:

1) Write each number as the product of prime factors
2) List each COMMON factor the LEAST number of times it appears in any one number

3) Multiply these factors together to get the GCF

Ex. 2) Find the GCF

a) 48 and 84 b) 36, 48, and 60
49 g4 36 48 6O
I s ~ ~ A
6 8 4y 2l 6 6 4 12 6 0 .
4@z axaxax3 = 2123 (A 22
L= Qs ;)_ 12x7 = (93"
Y = 2AAx3IxT —@:{}7 r?g I Qu 20 Dx 3\‘%"((3)
*commﬂd prlmeJ o_ne ad ond 3 60 = Jxdnins 224 3x5
M f-{ 1%z % Common primes arg S and 3
Finding the Len-il (‘umm‘ﬂn tiple: a2
1)  Write each number as the product of prime factors GCF Ax3= Yr3= /D\

2) Select the primes that occur the greatest number of times in any one lactor
3) Multiply these primes together to get the LCM

Ex. 3) Find the LCM

a) 60 and 72 b) 35,60,and 75
60 72 3 o
o & o 910 é g@ C%‘é}
3 60 1o @\ 4 @0
35= 543)
60 = 2xx 325 = (3"‘)(31*5
L0 = 2x2x3x5 = 2223 5 75 = Ix5+85 3"5 /
T = JxAxdx 3"3’0} A ¥ U\v\iebuc primes are 43,5, 7
i "’+P““S are 3,300 3 375 44 highect power dPP’we& &,3,577
+Mn|3 <t power ot PNmes am,rwl«ara- ? )
3) C. <2 "3}5?’*7
LU0 M. = (O 3NE gxns=feo]  LLM S S5 a57-2100

You have red bungee cords that are 18cm long and green bungee cords that are

14 cm long. What is the shortest length of connected bungees you can make

with each colour so that they make the same length? {
red: | g~ . LCM c&ues%mn .
tcen: P——W—"*’ﬁ'ﬂ—-' or——r—+——

18> 2213 =(X3D

,/? ,W 4= }x@
3) & (33}?\) Yungue phmes o e 33,7
()ﬁ\@ kx hlgl«’d‘ power of primes : ; 3',\ 7

S LCM= A33T= 2xqa 7—Lj

- -

“The clx\on¥es+ levath you could walee
B

WOM‘d bQ, M




1.3 — Squares and Square Roots

Learning Target: to understand perfect squares and perfect cubes, and square roots and cube roots

Toolkit: Main ldeas:
e  Writing a number as the product of prime factors
¢ The opposite operation of squaring is the square root.
Ex.5% =25 and vV25=35
¢ The opposite operation of cubing is the cube root:
Ex.28=2x2x2=8 and V8=2

Definitions

Perfect Squares — Numbers with square roots that are rational (can be written as the product of two equl factors)

er 25 ={5x5 = 5 | [Pz
st of perfeet square whole numbers: = /

Li ._
0,1,4,9, 16, 25, 36, 49, 64, 81, 100, 121, 144, 169, 196, 225, 256, 289, 324, 361, 400, 441, 484....

Perfect Cubes — Numbers with cube roots that are rational (can be written as the product of three equal factors)

ex 30 . 3 o (3= |
List of perfect cube whole numbers: 7= V3x3x3 = 3 )‘J? ”_:'C:

0,1,8,27, 64, 125, 216, 343, 512, 729, 1000....

Finding Square Roots | Ex J) Determine the square root of 1296 without a calculator.
Without a Calculator

Step 1@ Write Ig\% as a product of'its prime factors
Q) &8
A 1296 = 2120 242X 3x3x 843
3 Bl

a Y
GBEY
Step 2: Re-order the prime factors into TWO identical groups. (If you can’t
do this, your number is NOT a perfect square).

12946 = (22253 x3 )(Rx2x313)

Step 3: Multiply out each group again to see what number it represents

=( 26 ) 3 )

Since 1296 can be written as the product (X) of TWO equal factors: 36 x 36,
we can determine that the square root of 1296 is 36 .

We write v129 =__3é . ] ‘
index _—_tadical

A A
Terminology: radical, radicand, index: I\ 1 2 9 6 j

an P—y—w—ij todlex radicand
mecas 0 o 1296
(sjuahe rao+>



Finding Cube Roots
Without a Calculator

*** you may usc your

calculator to help factor a
number into a product of
primes,..but try not to ;-)

513= 24
(2 desbcel Jr;?)"f?l &
519=(

$0... 4513

Ex 2) Find the square root wit’hou} a calculator p 5-? L
/ 146 \‘\ | AN
0 V19 (5] 48\ V576 &O 228

y |
NEER \ ll \ qu
x,(%,_: | 5762 JA AR AXAAK31Y X\G) fﬁ\ cf

6= 2x2x 717
o malle o - 959 Y2x7) 1576 (Ji:ulxsﬁxmxs

4 ff—"l"ﬂ'frfal

g " 1% =(HX) 1 57%6= (24 )(24)

S0 \[% = [14] 1 $0.... 57 =[24]

Ex 3) Determine the cube root of 1728 without a calcu latar
{112 %“‘\

Step 1: Write 1728 as the product of its prime Lu.lur( - /}w

\ (,:.r 432 \
1’)}8 = QKR DX AN X 3)(3;(3 Qﬁﬂfoe i
\ @ f'f N\

Step 2: Re-order the prime factors into THREE identical groups. }T e
can’t, your numnber is NOT a perfect cube)

7728 = (2x2x3 2203 Yaxax3)
Step 3: Multiply out each group again to see what it represents

EECEREr @ are

Since 1728 can be written as the product (X) of THREE equal factors:
120 x 1. % |3, we can determine that the cube root of 1728 is | .

index
We write 1728 ) _JQL
Radical, radicand, index? e
» . “\\
%
138 &744 ﬁffﬁ
ix 4) Find the cuhs.-mul. without a calculator /‘/ [(;9 ’3?9\
/512 3
a) V812 ( mf\a 5,6 b) ¥2744 @& O 686

X @_f\ra% @/\qu

plPToTeTeTulo PN @‘f\é ‘ 44= 2R IX T 7% \ (5\3';
x)dlﬁxﬁxlﬁx];l}\ 8 k‘x\ LMY= (Q,X') XQJ(? )(;]\,;7 @ :'1)
Y BY9) ot & VRGO

B O o =[]




}.4 — Rational and Irrational Numbers

Learning Target: understanding rational and irrational numbers, and approximating irrational numbers

Toolkit: Main Ideas:
* Finding a square root
o Finding a cube root
e Multiplication ) padl'ml
e Estimating £

n__"v‘* index= n
* Radicals va.--’j radicand = 2

Rational Number: A numbc.r that can be rcpru.t.nlud as a fraction 1 (a decimal that terminates OR repeats)
Bx._ 4= 075 , 5=0.33333=0.3

Irrational Number: A non-repeating OR non-terminating decimal value. When writing an irrational
number as a decimal, it is just an approximation. Ex. gt =3.]4/59,,. ) 2=1,73205,..

Perfect squares to memorize: V4, V9, V16, V25, V36, V49, V64, V81, V100, V121, V144
=% =3 74 =5 = =7 =% =9 =lp =i =%

Perfect cubes to memorize: %, 3\/27, V64, v 125, Y216
=3 =3 =y =5 =6

Ex 1) Evaluate the following radicals; identify the radicand and index for each

a) \/1_-l'f b) V64 L}
(Va4 ) = ¥

Radicand: ,( (7 Radicand: 6LIL
Index: QL Index: 3

** If no index is written, it is a A A

gstimating Square Ex 2) Estimate the value of V20 to one decimal place.
oots

Step 1: Find the two pcrfcct squares that ymn radicand is between
\) I é ) \, 9\5’
ey

Step 2: Find which of the two pcrtect squares is closest to your radicand;
this will determine the decimal point of your root estimation.

20 is y Feowm 167 ¢, clightly (,, +0J7;
20 i$ ..i.dwdy ‘From g S

@ - LL“WQJ s H«g es{l’w'nak wia s close ,
()



\

. roots

—

Number lines

Ex 3) Estimate the value of Y16 to one decimal place

Step 1: Find the two perfect CUBES that your radicand is between

e

- = ?
=2 B33 =3
Step 2: Find which of the two perfect cubes is closest to your radicand; this
will determine the decimal point of your root estimation,

1o 1< 8 (11,_.*.1/ Ffr?m 3 50 elo el hw \j%
6 is _Ll_mua?' From 27 $o decimal ¢locer +o '3

estimate m

Now evaluate Y16 on your calculator...how close was the cstimate?

%[,Z = A.5198 ... estimate was c[oscf

Ex 4) Using a calculator, approximate the irrational numbers to 2 decimal places

a) V4.5 b) V45 ¢) V450 V0.45
=1L 6] FAA 0,67

Ex 5) Estimate the posmon of ( -—\f— )and \/9_ ‘,_:" on the number line

T, IR Jei , ¥, s

d)

P ——

-y 4l =-5 =4 [F4.5] =5
-{® 5
- — T T T | T T T —&— T
-6 -5 -4 -3 -2 -1 g 1 2 3 4 5 6

Ex 6) Without using the root function of your calculator, approximate the
number to one decimal place

b)3\/§§

ex]
=3

\/.__
L_{

{l
S
')

avO( 9~D' ‘FI‘OM é“’

féiﬂ(;za 1s
\ onLI X oway
Nudﬂ clocer +° 37-

From ¢4 \.

(Smce, 35 59 from 17.




.5 A — Exponential Notation and Fractional Exponent

Learning Target: To relate rational exponents and radicals

Toolkit:
e Taking Square and Cube Roots
e Converting Decimals to Fractions
e Order of Operations

What is an An exponent tells us how many time we are multiplying the base by itself

exponent?
Example: 2*= ;xang.x;

What about negative | If the negative sign is inside the brackets with the base, we need to include it in
signs with the base? | our multiplications. Otherwise, leave it in the front.

Example:  (=5)% :; —52
< (~B)~t-8) | +—Bx5
: 25 [ TR O S

Exponent Laws Exponents of 0 and 1
al=a for any number a.
a®=1 for any non-zero number a.

Ex. 1) Simplify

8) 502 ) b5t = 5
Product Rule -
a™ x gt = gmtn
Ex. 2) Simplify
a) 4% x 4% b) x6 x x10
-y “ R X"* s
2 q” ex'
Quotient Rule
xm — m-n
. P

Ex. 3) Simplify

) % b) x¢+x
$-% x* !

(-4) 3 §
- (-4)




Fractional
Exponents:
Rewriting powers in
Radical and |
Exponent form

Power Rule
(xm_)n = xmxn

Ex 4) Simplify
a) (3%)*

3Sxﬂ . 52-0

A Product to a Power

(ab)™ = a® x b"

Ex. 5) Simplify
a) (3x)3
2” x>
27 x3

b) (2xy)* ’
H
2707y

oxyY

A Fraction to a Power

an
EF

Ex. 6) Simplify

9 (&)

1

xn = 3x

Powers with Rational Exponents with Numerator 1
When 1 is a natural number and x is a rational number,

5

calculator Chontr +o
" 0 fro _ §
a) 10003 b) 259 ¢) (—8)3
Vi
s 3] |00 = A5 * 3;-%
=10 - \JS‘S (- ;\3

Ex. 1) Write each power in radical form and evaluate without using a

@ Es
X

s

|

o0
FS




* Tlower Powey 7

gwe/
79 ¢/rﬂu““ Y
Mm%
n

X

. §
™~ ..r""}‘ S

e,
e

NER
7 ,

oot
UJ( 2 fa&'\u%*
{ ae
g \uoke 02!
X ack® ey
/\‘\f:\ { S* -

o0

Powers with Rational’ Exponents
When m and n are natural numbers, and x is a rational number,

m
xn:

()" =

Ex. 2) Write the followmg in radical form:

-

-
et

a) 26

':I-b"

Ex. 3) Write the following in exponent form;

oot

) ?’[ )
LD"S'

Ex. 4) Evaluate:

4
a) 1007
(755
) 03

0006)

sC/F

-

. 3
by25: =(2fas )22 (1% )

Wy ‘rv""‘ S
i+ 0o iumber™ b) ('i/—)
Ve (v
‘:;\pivocf" ‘Mm
\s oo L \ 6\
4 4
b) (—27)3 ¢) 325

: (351-11: )b\
: (—1)"\
(- D= (-2)4)

)%H
==

: (SJE’;Oq

Y
. (fpez2ry)
“Fwe s
- 2 .
}"TTC

—



{ .5 B — Negative Exponents

Learning Target: To relate rational exponents and radicals

Toolkit:

e Taking Square and Cube Roots
o Converting Decimals to Fractions
e Order of Operations

What is a
reciprocal?

Powers with
Negative Exponents

Evaluate a power
with a negative
exponent

Evaluate a power
with a negative
rational exponent

Two numbers with a product of 1 are reciprocals.

: 1 f .
Ex. 1) Since 4 X i 1, the numbers 4 and S are reciprocals.

. 2,3 . 2 3 :
Ex. 2) Since Fs = 1, the numbers B and 5 are reciprocals.,

@7 . . Fvdude | nswer _

When x is an non-zero number and n is a rational number:
1 a. b
-n — » A1 — Z\n
x e and ) =)
Evaluate each power:
Ex. 3)
a) 37 b) (~5)~2 DICHN 0 G
3 I
s &ty ey
2 C'S\a — ————
L L T e e ) *ﬂ 64 , :
Q 125 \‘15” 1'?\‘ Noks l!OO]

To evaluate a power with a negative rational (fraction) exponent:

2
Ex.4) Evaluate 873

'='-£— write with a positive exponent
83 : T
=T re-wrile into radical form, theri work from inside out
1
T evaluate (write answer with NO exponents)-



Chanse ‘o
POSH’NQ’
QY'PO'I{?!
Fuse

Ex. 5) Evaluate: ‘

_3 [ o

ay (%)3 z | b (%) 2

Ly
- a “\ 7%

,63’7- ) 36‘11

= ""[‘—;l';._ WA

s V.8

. (e ) T

= _(_______.._,.. k s

()

s
c) 16_5 \ d)—25715

(hint: change 1.5 to
a fraction in lowest tetms)

|
--'"EH = 3 S N
|6 s
() | |
| B —
ras (IR
Yozl L=
I ) =
.--,—-"' = --!
2> |
AT
B



1.9 C — Simplifying with Exponent Laws

Learning Target: To apply all of the exponent laws to simplify expressions

Toolkit:
¢ Exponent Laws
o Fractional and negative exponents
e Order of Operations with Fractions

Exponent Laws ; AR SRR L0 T, T
For any integers s aitay S IE S 4SS i R SR S A
'Embucnt of 1 la=a 3'=3
Exponentof0  |a* =1, a+0 (-5f=1
Product Rule a"xd" =a"", a#0 Px2=2=7
: Y - ! .:.. . s
QuotientRule. ] & = &, a0 S=3ay
1 '-.'-_: (a")" = g™ (2:)4 = P - 91
PowerRules || (@5Y =a'x¥" (22 = 20
' ap_a 2y _ 2!
(5) =% (3) =%
at= # = ily
RN | ay_ by 3\ _ 4y
Negative Exponents | (5)" = (Z) (@) =()
i £ : a-n _ -’_,: 2-! _ 34
|~ a 3FF =3
L e ¥E =
Rational Exponents .
. ) 1 _
- VE =t V5 = 5t
Ex. 1) Simplify by writing as a single power:
NOTE: write ) plify by & it
alpowezvits | ) g o -
EXPONENTS | _ ( % yecie) y 17 PN LI
-] 3 V4%
-6 % am’
T _f :/ m )
e —
& |




0.47 2y-4 Sl
d) 25 . e) (n?) .
z -4 . - N
0.4 1 =0M o
] (s =
o ~e
Ex. 2) Simplify by writing as a single power
b '“I._! = 10 ! Lo 84.-_ -4,
% [(“)2] [“)] iy K 3
: 5 . 84
aje s (A g gmn T L
= (-'-;;)"’) - i f)—“' 3 ’?;‘,.,-,!q\
b - (-12) 7. 53 B é___
= — . = ’§/
( “!)’r . ;QE” 5 % 4
-4 = W
AN -12.3'" i
. s I - - S/y
P A
,( 1 /5

* (yR)(x?y?).
)(4«’-1.'-‘1+3
b
[X9)
: \‘ﬁg,/'.'._ N -2
it -3
PRLY EEE aﬁa“b )
Ve ) cm-zb-- .
' 4 ~t-1) .'L-’-"'—g\
=\ 7
) (%.‘1‘12.' S)-:{ R
- -7 y/q;’"_:.’d'\v
NG _]'/5;9- ?\p|
| ra b Y. R’
. ("'H-;’) (ﬁb BT'T':.
d Mo’
Li_o\m-

Ex. 3) Simplify (write all powers with POSITIVE exponents)

/ﬁ,.

b). (272%y%)s

N Q'ﬁ)\”‘ %b% ' 44
\

= 272y

z {Fl:;)kl}j?

,( 3x*y

(‘i{)mzn")
2m*n?

1 Sump I Grinsicle




I+ & — Simplifying Radicals

Learning Targets: To express entire radicals as mixed radicals and mixed radicals as entire radicals

Toolkit: S
e Understanding Radicals
» Identifying factors of a number

Definitions bxel w1 38 ol - -
Perfect Squares—1, 4, 9, 16, 25, 36, 49, 64, 81, 100, 121, 144 ..

M 2t gaed Lo

Perfect Cubes~1, 8, 27, 64, 125, 216

What is an N rodicol Sign wida o numbeyr under

entire radical?
¢ Gr  Jod

Whatlsa | & number writen 03 0 preduck of o
mixed radica number gnd o radical.

> 38 4o

Equivalent Forms:

Ex. 1) .

a) V16 X 9 is equivalent to V16 X /9 because:
= V144 = Hx3
a0 -9

-

b) V8x 27 is equivalent to /8 x Y27 because:
I Qx3
- b - b

~
Multiplication Vab = Ya x Vb, where n is a natural number and @ and b are
gr%pertly of , real numbers
adicals

*We can use this property to simplify square roots and cube roots that are not
perfect cubes, but have factors that are perfect squares or perfect cubes*




Simplifying
Square Roots

Simplifying
Cube Roots

Tip: If there is
MORE than
one perfect
square or
perfect cube
factor, choose
the LARGEST
one!

How do
simplify with
radicals if the
index is not 2
or 37

LN ——
Fa&ovsa\,’z,%,(i}b,c,u,d{ —
We can simplify 24 because 24 has a perfect square factor of JZL

(hint: look at the list of perfect squares!)
- Rewrite V24 as a product of two factors, with the first one being the perfect
square:
J24
A1 *\e # Now smp\iPa W =2

:;\rb

We can also simplify 324 because 24 has a perfect cube factor of % .
Yacrors V.2, 3,4, 06 (g:l 12, 24 (hint: look at the list of perfect cubes!)

- Rewrite /24 as a product of two factors, with the first one being the perfect

cube:
3§29
,353, v 33 *Nows\mph’-ﬁa §j'?=2
293

Ex. 2) Simplify each Radical: (remember your list of perfect squares and perfect cubes!)

9 V8 b) V32 | o) V162 d) Y108
perfect squar e PQV“FQd’sqw X {71’1460\- e 74 | pevrfect cube Factos.
Lot 2t “‘Ht'@ fakors: '-l‘ll.) Lacrois 2 i 277

o | s ,f 4Jioe
o E‘rf' = Jziz‘{-—ﬁ {m_ﬁ ﬂ?’? \l_
g A . .

e =3de | 3 gy

Ex. 3) Simplify V162 [

" S b2 - Rewrite radical with the prime factorization of 162
- Since Y162 is a fourth root, look for a factor that appears
o 4 times
2)gie A
I& . .

"J A Pr\w\i foctorttorion . 1% write
pan Y tines!
133332



Word Problem

e

AN

How do you
write a mixed
radical as an
entire radical?

What do you
do if the index
is higher than
37

Ex. 4) A cube has a volume of 128¢cm3. Write the edge length of the cube in simplest

radical form. \‘ 3 & - L\

P
Y \-e-e-e
€ 3
C Ut ha S the V=e
S L“*Ji"‘JM \2L B = e’

u)ld.“‘""fl"‘u‘
?i\n%

VO

sivdkaes

U\OQ,V\CAS - £
Ndguiensh) g o YT AR
AT e L g i e

S —

Ex 5) erte the mixed radical 43 as an entire radical:

43 : : .

.-= 4.3 - Usg:‘lhe Mulﬁpiicaliun Property of Radicals :
'=+16-v3 | (re-wrile 4 as a-tadical... think ....4 = = V2..../161)

= m - Combine these under the same radical sign and multiply

=48 (***NOTICE...thése ace the oppasine sicpe to writing an eotire radica) as « mlxed radfeal)

Ex. 6) Write each as an entire radical:
P T 3<\q 3-ym 2= s
a) 5v2 b) 3v3 ¢) 3V2 d) 26

:’&;'\ﬁ :ﬁ-ﬁ ‘1{3—7{5 = 4(g -

3= 23.3.3-3:3 =3
e '(_ —_—

5 vz,
$in e Mg nelex ie 5.

s2as - Yo

\}'),‘4»—‘7\ = ij"f(db‘

= 49_?} e cdare -kl
Hno |G SNET \ --\‘ﬁiif\
Ex. 7) Write 33/2 as an entire radical:
Rewrite 3 as 3/~ .....

Now using the Multiplication property of radicals. ..

& C(Abe oot bothh

T pevfe ck cubpe f-oci-w

J



